IRDEMERIHLYY —

18 28
N £ +
wa o
T T 1 ERERR
3l CU 5 B TEiE 3l CU
7 BEe TR RS
4E 58 68 78 8H 98
= B X X X 7S T
s s o
6 LT ;E?Cfﬁ 6 LTI ;E?Cfﬁ 6 LTI ;E?Cfﬁ T,
5 LT  Een 5 LT  Een 5 LT  Een 5 LT
118 128 130 148 150 168
g B X X X S
wa o o o
T P T T T T 1 ERERR
3l CU 5 B TEHE 3l CU 5 B TEHE 3l CU 5 B TEiE 3l CU
RS T RS 7 BEe TR RS
18H 198 208 210 228 238
= B X X X % T
s s A
6 LT ;E?Cfﬁ 6 LTI ;E?Cfﬁ 6 LTI ;E?Cfﬁ T,
5 RS TR  Een 5 B2 TR  Een 5 B2 TR  Een 5 LT
258 268 278 288 298 308
= B X X X S
1ERE 1ERE L ERE
ERERR | omemm EREAR | o memm EREAR | o memm
SlEL 5 B2 TR e 5 B2 TR e 5 B2 TR
7 RS T RS 7 BEe TR

A OZHERIZ1 AL O 1 TRETTY,
c ZFRFEEAAADBEK LY Z—TITVET,
c ABEEHEHELTVEHER, FEANOIHBAY ZFAILET,




